
Worksheet  Maths 4th ESO 
 

 

COORDINATE GEOMETRY 1 

 

 
1.- Find the equation of these straight lines 

a) The line through (-2,1) and slope –2. 
b) The line through (2,-1), parallel to 1x2y +=  

c) The line through (1,-1) that makes an angle of 45º with x-axis. 
d) The line through (1,0) and (-3,2). 

 

 
2. Find the midpoint, length and slope of the line joining the points A and 
B, leave your answers as a surd 

a) A = (1,16), B = (3,10)   b) A = (4,-2), B = (-5,1) 
 
 
3. Find the equation of these straight lines 

a) The line through (1,2), parallel to 2yx3 =+  

b) The line through (5,10), perpendicular to 7yx2 =−  

 

 
4. The line r passes through the points A(0,-2) and B(6,7) 

a) Find the equation of r. 
b) The line s has equation 8yx =+  , s crosses the x-axis at C and the y-axis 

at D. Find the coordinates of C and D. 
c) r and s meet at point E. Find the coordinates of E. 

 

5. Write the equation of a line which has a graph which is parallel to the line  
8x2y += y and contains the point (5, 5). 

 
6. Find the relative position of lines r and s : 

a)




−=+≡

=−≡

3y2xs

1y3x2r
 

b) 




=−≡

+=≡

6x4y2s

3x2yr
 

c) 




=−≡

=−≡

2x6y9s

1y3x2r
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SOLUTION 

1.- Find the equation of these straight lines 
a) The line through (-2,1) and slope –2. 

( ) 3x2y2x21y −−=→+−=−  

b) The line through (2,-1), parallel to 1x2y +=  

parallel 2mslope =→  

( ) 5x2y2x21y −=→−=+  

c) The line through (1,-1) that makes an angle of 45º with x-axis. 
45º with the x-axis (two possibilities) 1mslope ±=→  

( ) 2xy1x11y −=→−=+ ; ( ) xy1x11y −=→−−=+  

d) The line through (1,0) and (-3,2). 

01x2y4
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=−+→
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−
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−

−
=

−−
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2. Find the midpoint, length and slope of the line joining the points A and 
B, leave your answers as a surd 

a) A = (1,16), B = (3,10) ( ) ( ) ( ) u10240161013BAd 22
==−+−=,    

b) A = (4,-2), B = (-5,1) ( ) ( ) ( ) u892145BAd 22
=++−−=,  

 
3. Find the equation of these straight lines 
a) The line through (1,2), parallel to 2x3y2yx3 +−=→=+  

parallel 3mslope −=→ ;   ( ) 5x3y1x32y +−=→−−=−  

b) The line through (5,10), perpendicular to 7x2y7yx2 −=→=−  

perpendicular
2

1
mslope −=→  

( )
2

25
x

2

1
y10

2
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x

2

1
y5x

2

1
10y +−=→++−=→−−=−  

 
4. The line r passes through the points A(0,-2) and B(6,7) 
a) Find the equation of r. 

6y2x312y6x9
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+

+
=

−

−
 

b) The line s has equation 8yx =+  , s crosses the x-axis at C and the y-axis 

at D. Find the coordinates of C and D. 

( )80D8y
0x

8yx
,⇒=→





=

=+
;   ( )08C8x

0y

8yx
,⇒=→





=

=+
 

c) r and s meet at point E. Find the coordinates of E. 

5

18

5

22
8y

5

22
x22x5

6y2x3

16y2x2

6y2x3

8yx
=−=→=→=→





=−

=+
→





=−

=+
 










5

18

5

22
E ,  
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5. Write the equation of a line which has a graph which is parallel to the line  
8x2y += y and contains the point (5, 5). 

parallel →=→ 2mslope ( ) 5x2y5x25y −=→−=−  

 
6. Find the relative position of lines r and s: 

a) ( ) 1x1y16y71y33y223y2x
3y2xs

1y3x2r
−=−=→=−−→=−−−→−−=→





−=+≡

=−≡
,  

the lines intersect at the point ( )57 −− ,  

 

b) ( ) 0x06x43x22
6x4y2s

3x2yr
=→=−+→





=−≡

+=≡
 r and s are the same line 

 

c) 5x0
2y9x6

3y9x6

2x6y9s

1y3x2r
=





=+−

=−
→





=−≡

=−≡
 r and s are parallel lines 

 

 

 


